



Thừa số mỗi biểu thức hoàn toàn.

1) $\frac{24}{64}b + \frac{16}{40} =$ _____

2) $\frac{10}{28}c - \frac{8}{28} =$ _____

3) $\frac{4}{28}d - \frac{4}{63} =$ _____

4) $-\frac{3}{56}e - \frac{9}{42} =$ _____

5) $-\frac{6}{25}f + \frac{6}{20} =$ _____

6) $-\frac{4}{28}g + \frac{12}{14} =$ _____

7) $\frac{28}{64}h + \frac{4}{72} =$ _____

8) $\frac{16}{49}i - \frac{12}{28} =$ _____

9) $\frac{12}{56}j + \frac{28}{42} =$ _____

10) $-\frac{6}{20}k + \frac{3}{28} =$ _____

Câu trả lời

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____



Thừa số mỗi biểu thức hoàn toàn.

1)
$$\frac{24}{64}b + \frac{16}{40} = \frac{8}{8}\left(\frac{3}{8}b + \frac{2}{5}\right)$$

2)
$$\frac{10}{28}c - \frac{8}{28} = \frac{2}{28}\left(\frac{5}{1}c - \frac{4}{1}\right)$$

3)
$$\frac{4}{28}d - \frac{4}{63} = \frac{4}{7}\left(\frac{1}{4}d - \frac{1}{9}\right)$$

4)
$$-\frac{3}{56}e - \frac{9}{42} = -\frac{3}{14}\left(\frac{1}{4}e + \frac{3}{3}\right)$$

5)
$$-\frac{6}{25}f + \frac{6}{20} = -\frac{6}{5}\left(\frac{1}{5}f - \frac{1}{4}\right)$$

6)
$$-\frac{4}{28}g + \frac{12}{14} = -\frac{4}{14}\left(\frac{1}{2}g - \frac{3}{1}\right)$$

7)
$$\frac{28}{64}h + \frac{4}{72} = \frac{4}{8}\left(\frac{7}{8}h + \frac{1}{9}\right)$$

8)
$$\frac{16}{49}i - \frac{12}{28} = \frac{4}{7}\left(\frac{4}{7}i - \frac{3}{4}\right)$$

9)
$$\frac{12}{56}j + \frac{28}{42} = \frac{4}{14}\left(\frac{3}{4}j + \frac{7}{3}\right)$$

10)
$$-\frac{6}{20}k + \frac{3}{28} = -\frac{3}{4}\left(\frac{2}{5}k - \frac{1}{7}\right)$$

Câu trả lời

1.
$$\frac{8}{8}\left(\frac{3}{8}b + \frac{2}{5}\right)$$

2.
$$\frac{2}{28}\left(\frac{5}{1}c - \frac{4}{1}\right)$$

3.
$$\frac{4}{7}\left(\frac{1}{4}d - \frac{1}{9}\right)$$

4.
$$-\frac{3}{14}\left(\frac{1}{4}e + \frac{3}{3}\right)$$

5.
$$-\frac{6}{5}\left(\frac{1}{5}f - \frac{1}{4}\right)$$

6.
$$-\frac{4}{14}\left(\frac{1}{2}g - \frac{3}{1}\right)$$

7.
$$\frac{4}{8}\left(\frac{7}{8}h + \frac{1}{9}\right)$$

8.
$$\frac{4}{7}\left(\frac{4}{7}i - \frac{3}{4}\right)$$

9.
$$\frac{4}{14}\left(\frac{3}{4}j + \frac{7}{3}\right)$$

10.
$$-\frac{3}{4}\left(\frac{2}{5}k - \frac{1}{7}\right)$$